

Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

05/25/2023 09:00 AM | drive/install 05/26/2023 09:00 AM | install 05/27/2023 09:00 AM | install 05/28/2023 09:00 AM | install 05/29/2023 09:00 AM | strike/drive PO: Shipping Address: Ojai Valley Inn **Iconic Event Studios**

Invoice Date: Due Date: Upon Receipt

Salesperson: Leigh Carter

Description		Qtty	Price		Total
SATURDAY - OF	CHARD LAWN				
	Perimeter Drape - 3'Wx10'H light blue linen pullbacks on structures	48	\$75.00	Т	\$3,600.00
	Wood Truss Cover - 14'x16'	1	\$5,200.00	Т	\$5,200.00
	Truss Cover - 16'H burlap type fabric	4	\$150.00	Т	\$600.00
X	Dining Table - Florence - Round Wood 72"	1	\$400.00	Т	\$400.00
U U	Florence Rectangle Dining Table - 4'Wx10'L	12	\$450.00	Т	\$5,400.00
A	Bali Wood & Cane Back Dining Chair	192	\$25.00	Т	\$4,800.00
R	Napa Whitewash Crossback Dining Chair	146	\$20.00	Т	\$2,920.00
	Siena Long Pendant Lamp	4	\$100.00	Т	\$400.00
	Siena Short Pendant Lamp	4	\$100.00	Т	\$400.00
	Lisbon Pendant Lamp - 02	4	\$100.00	Т	\$400.00
	Lisbon Pendant Lamp - 03	4	\$100.00	Т	\$400.00
	Santa Fe Reclaimed Wood Full Bar	1	\$3,000.00	т	\$3,000.00
	Barback - Tokyo - Straight Basic 6' - Metal Wood Facade	2	\$250.00	Т	\$500.00
	Bali Bamboo Whitewash Sofa	4	\$300.00	Т	\$1,200.00

Description		Qtty	Price		Total
	Bali Round Rattan Coffee Table	4	\$150.00	Т	\$600.00
v	Bali Club Chair	8	\$250.00	Т	\$2,000.00
	Jute Ottoman	4	\$45.00	Т	\$180.00
	Ottomans - Standard Pod Ottoman Cover - Royal Blue Chenille W/ Taupe Piping	4	\$30.00	Т	\$120.00
FAR	Ottomans - Bali - Bamboo Round	4	\$30.00	Т	\$120.00
	Bora Bora Whitewash Coffee Table	4	\$250.00	Т	\$1,000.00
	Accent Pillow Yellow Linen	12	\$22.00	Т	\$264.00
X	Stand Up Tables - Florence - Natural Wood Round 42"	8	\$150.00	Т	\$1,200.00
	Stand Up Tables - Bali - Round Wood Cane Back	4	\$275.00	Т	\$1,100.00
	Small Dining Tables - Bali - Round Wood Cane Back	10	\$200.00	Т	\$2,000.00
	То	tal SATURDA	- ORCHARD LA	WN	\$37,804.00
SATURDAY - AF	TER PARTY				
	Florence Natural Sofa	2	\$350.00	Т	\$700.00
H-1	Coffee Tables - Florence - Rectangular W/ 4 Legs	2	\$200.00	Т	\$400.00
-	Club & Lounge Chairs - Boston - Club Chair W/ Nailhead Trim	j 4	\$150.00	Т	\$600.00
		Total SATURI	DAY - AFTER PAP	RTY	\$1,700.00
SUNDAY - CERE	MONY				
	Perimeter Drape - 40'Wx14'H white sheer with backing double sided	1	\$1,500.00	Т	\$1,500.00

Description		Qtty	Price		Total
	Perimeter Valance - 80'Lx12"H	1	\$325.00	Т	\$325.00
	Daybeds - 8' Square white linen slipcover with hole in center for umbrella	2	\$550.00	Т	\$1,100.00
	Ottomans - Standard Pod	16	\$30.00	Т	\$480.00
	Accent Pillows white linen	48	\$22.00	Т	\$1,056.00
FY	Garden Props - Umbrella Square 10' white	6	\$200.00	Т	\$1,200.00
T	Small Dining Tables - Stockholm - Marble Bistro Table	1	\$100.00	Т	\$100.00
	Custom White Metal Frames (2) 12'H x 2' (2) 10'H x 2'	4	\$500.00	Т	\$2,000.00
	Aspen White Dining Chair	361	\$25.00	Т	\$9,025.00
	Palermo White Sofa - 8'L	6	\$400.00	Т	\$2,400.00
	Palermo White Sofa - 6'L	2	\$350.00	Т	\$700.00
	Dining Table - Las Vegas - Colored Top 8'x40" base & top wrapped in white linen	2	\$750.00	Т	\$1,500.00
	Custom 6'x30" white high gloss wood runner	2	\$100.00	Т	\$200.00
	Dining Table - Las Vegas - Colored Top & Base Round 66" base & top wrapped in white linen	2	\$650.00	Т	\$1,300.00
		Total SL	JNDAY - CEREMO	ONY	\$22,886.00
SUNDAY - COCK	TAILS				
	Boston Bar Complete Oval - 16' off white with sage green trim	1	\$3,000.00	Т	\$3,000.00
	Boston Round Plexiglass Barback off white	1	\$300.00	Т	\$300.00

Description		Qtty	Price		Total
	Custom Escort Card Wall	1	\$5,750.00	Т	\$5,750.00
	Ottomans - Standard Pod Ottoman Cover - Pastel Green W/Piping White	8	\$30.00	Т	\$240.00
T	Dining Table - Lyon - Round/ Rectangular Tops Versailles Dining Table - Square Top 44" x 44"	4	\$150.00	Т	\$600.00
		Total SU	INDAY - COCKTA	ILS	\$9,890.00
SUNDAY - DINNI	ER				
	Custom Partial Ceiling Treatment	1	\$5,500.00	Т	\$5,500.00
	Perimeter Drape & Pullbacks for entire ballroom 130'x62'x15'H white sheer with backing	1	\$9,200.00	Т	\$9,200.00
	Perimeter Drape 5'Wx15'H pieces black sheer with backing	18	\$100.00	Т	\$1,800.00
	Perimeter Valance for entire ballroom 130'x62'x14"H black dupioni	1	\$1,750.00	Т	\$1,750.00
	Perimeter Drape & Pullbacks for entire cake room 30'x24'x14'H black velvet	1	\$2,250.00	Т	\$2,250.00
	Perimeter Valance for entire cake room 30'x24'x14"H black dupioni	1	\$450.00	Т	\$450.00
	Custom Partial Ceiling Treatment for over dancefloor 30'x30'	1	\$3,550.00	Т	\$3,550.00
	Truss Covers (4) 30'Lx12" (4) 18'Lx12"	1	\$1,700.00	Т	\$1,700.00
	High Gloss Dance Floor - 30'x30' pearl soft white with gold decal	1	\$6,500.00	Т	\$6,500.00
	Buenos Aires Metal Frame Bar - 8'L black frame and gold plexi	6	\$800.00	Т	\$4,800.00
	Barback - Tokyo - Straight Basic 8' - Metal ^{gold}	6	\$275.00	т	\$1,650.00
	Nice Gold Frame Dining Chair black velvet cushion	126	\$25.00	Т	\$3,150.00

Description		Qtty	Price		Total
	Dining Table - Las Vegas - Mirror Top 8'x48" black base	12	\$350.00	Т	\$4,200.00
	Small Dining Tables - Las Vegas - Mirror Top Round 48" black base	1	\$200.00	Т	\$200.00
	Moscow Gold Base Dining Table - 72" Round	3	\$400.00	Т	\$1,200.00
	Custom Moscow Dining Table Base	1	\$350.00	Т	\$350.00
	Madrid Serving Cart	2	\$200.00	Т	\$400.00
	Serving & Display Carts - Naples - Gold Cross Serving Cart *see about bigger wheels*	4	\$150.00	Т	\$600.00
	Panels - Mirror - 42" X 12'h	5	\$600.00	Т	\$3,000.00
	Stage Backdrop final design tbd	1	\$4,500.00	Т	\$4,500.00
	Boston Stage Front - With Mirror (3) 8'x28"H & (2) 6'x28"H same color as dance floor with black trim	1	\$2,500.00	Т	\$2,500.00
		Tota	I SUNDAY - DINN	IER	\$59,250.00
SUNDAY - AFTE	R PARTY				
	Perimeter Drape 110'x15'H burgundy velvet	1	\$2,450.00	Т	\$2,450.00
	Perimeter Valance 106'x14"H burgundy dupioni	1	\$425.00	Т	\$425.00
	Stage Skirt - 8'x6'x24"H	1	\$150.00	Т	\$150.00
	High Gloss Dance Floor - 20'x28' burgundy	1	\$3,700.00	Т	\$3,700.00
	Dj Fronts - Burgundy Channeled	1	\$250.00	Т	\$250.00
	Nice Laser Detail Gold Bar - 8'L	2	\$800.00	Т	\$1,600.00
	Barback - Tokyo - Straight Basic 6' - Metal _{gold}	2	\$250.00	Т	\$500.00

Description		Qtty	Price		Total
	Custom Pedestals 40" round x 18"H high gloss burgundy pedestal to match dance floor color	2	\$350.00	Т	\$700.00
	Buenos Aires Sofa Sofas - Buenos Aires - 4pc Sectional - Burgundy Velvet	4	\$650.00	Т	\$2,600.00
	Monaco Irregular Brass Coffee Table	3	\$250.00	Т	\$750.00
	Accent Pillows burgundy velvet	24	\$22.00	Т	\$528.00
	Accent Pillow: Black Velvet Ball	8	\$22.00	Т	\$176.00
ALC I	Accent Pillow Matte Gold Chenille	8	\$22.00	Т	\$176.00
	Ottomans - Las Vegas - Round W/ Gold Legs	8	\$30.00	Т	\$240.00
	Ottomans - Standard Pod Ottoman Cover - Burgundy Cotton velvet	8	\$30.00	Т	\$240.00
	Monaco Brass Stand Up Table	8	\$150.00	Т	\$1,200.00
	Frankfurt Black Boucle Barstool	8	\$30.00	Т	\$240.00
	Panels - Candle Wall Wood 14' painted gold	6	\$550.00	Т	\$3,300.00
	Candles - Led Battery Operated Candle 9"	50	\$5.00	Т	\$250.00
	Candles - Led Battery Operated Candle 8"	50	\$5.00	Т	\$250.00
	Candles - Led Battery Operated Candle 7"	50	\$5.00	Т	\$250.00
	Candles - Led Battery Operated Candle 6"	50	\$4.00	Т	\$200.00
	Candles - Led Battery Operated Candle 5"	50	\$4.00	Т	\$200.00
	Candles - Led Battery Operated Candle 4"	50	\$4.00	Т	\$200.00

Description		Qtty	Price	Total
		Total SUNI	DAY - AFTER PARTY	\$20,575.00
Services				
	installers to drive/install thursday	14	\$650.00	\$9,100.00
	installers to install friday	14	\$650.00	\$9,100.00
	installers to install saturday	14	\$650.00	\$9,100.00
	installers to strike saturday	8	\$450.00	\$3,600.00
	installers to install sunday	14	\$650.00	\$9,100.00
	installers to strike sunday	14	\$450.00	\$6,300.00
	installers to strike monday	14	\$650.00	\$9,100.00
	supervisor onsite for 5 days	1	\$5,100.00	\$5,100.00
	trucking	14	\$750.00 T	\$10,500.00
	flameproofing & certs	1	\$1,750.00	\$1,750.00
	per diem for 5 days	15	\$370.00	\$5,550.00
	dancefloor install/strike	1	\$1,500.00	\$1,500.00
	presentation	1	\$500.00	\$500.00
	pre-production/packing & supplies	1	\$2,500.00	\$2,500.00

Please make checks payable to Revelry, Inc.	Total Products:	\$152,105.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Total Labor/Services/Misc:	\$82,800.00
Please ready the contract and sign it	Taxes (tax excempt):	\$0.00
	Discounts:	(\$0.00)
Notes	Total:	\$234,905.00
	Payments:	(\$0.00)
	Balance:	\$234,905.00